.4 o ] 1282
v START
X 2- 6- 8 =
Ab o
12 - 14 - 16
1.TOR 2.TOR
20 - 24 - 26
32 - 34 - 36 — [ \
[Zahlen der} [ Zahlen }
4-er Reihe gréRer als 30
Erganze: Sehr schwierig: Gehe zurtck:
-4+ |=20 -4 +3 -4 = 6-4- |=20
Fob4+ |=30 2-4+5 4= 8-4 - |=30
10 -4 +| |=40 8-4 +2 -4 = 2-4- 1= 0
34+ |=20 64 +4 b= 9-4 - |=30
8- -4+ |=40 1-4+9 -4 = 4-4 - =10
44+ |=20 9-4 -7 -4 =_ 1-4-] |= O
1.4+ =10 8-4-5-4=__1| 10-4- |=40
64+ |=30 6-4 -2 -4=__ -4 - |=20
94+ |=40 -4 -3 -4 = 3-4- =10
34+ =20 |10-4 -1 -4 =_ o4 -_|=20
START
6- 7- 8-10 S S =
;é:;é:;;:;g 1TOR| ™~ — |2TOR| ™ — |3TOR|} ~— =
32 - 34 - 36 - 40 S [ T 1\
A N
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